CLASIFICACION DE TARJETAS DE REACCIONES

4Fe(s) + 302(g) > 2Fe,05(s)

MgCOs(s) - MgO(s) + COz(g)

N2(g) + 3H2(g) > 2NHz(g)

8Li,S(s) = 16Li(s) + Ss(s)

250:(g) + O2(g) - 2S0s(g)

2H,0(1) = 2Ha(g) + O2(g)

MgO(s)+ H0(l) > Mg(OH).(aq)

2KClOs(s) = 2KCI(s) + 30,(g)

P,Os(g) + 3H.0(l) > 2H3PO4(aq)

2Na,0;(s) = 2Na,0(s) + 0,(g)

SOg(g) + H20(|) - HzSO4(aCI)

(NH4)2CO3(s) - 2NHs(g) + H20(I) + CO2(g)
2FeCls(aq) + 3Zn(s) - 2Fe(s) + 3ZnCly(aq)

AgNOs(aqg) + NaCl(ag) - AgCl(s) + NaNOs(aq)
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2AI(NOs)s(aq) + 3Ca(s) - 3Ca(NOs)2(aq) + 2Al(s)

2HNO3z(aq) + Mg(OH),(aq) > Mg(NOs),(aq) + 2H,0(l)

Mg(s) + CuSO4(aq) > MgS04(aq) + Cu(s)
2Al(s) + 6HCl(aqg) = 2AICl5(aq) + 3Hz(g)

Na,COs(aq) + CaCly(aq) - CaCOs(s) + 2NaCl(aq)

Cl,(g) + 2NaBr(aq) - 2NaCl(aq) + Bry(l)

FeS(s) + 2HCl(aq) = H.S(g) + FeCl,(aq)

ZnBry(aq) + F2(g) = ZnFz(aq) + Bry(l)

HCl(aqg) + NaOH(aq) - H,0(l) + NaCl(aq)

FeBrs(aq) + KsPOas(aq) > FePOu(s) + 3KBr(aq)

Adaptado de: http://www.flinnsci.com/store/Scripts/prodView.asp?idproduct=22349
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